101997000964 1
1999063 15

10-0201455

(45) B0t

(11)

(51) Int. CI.°
B6OK 5/12

10{
3
mr
ulo

£1998-0074016
1998 11205

1999403 15

(43) ZBHATX}

(65)

t

ANSE Al
_J'\_

10-1997-0009641
1997H03F 21

JI0bR}

of & At

=
=

(73)

=992-28

=
S

=
=
BH
=]

_I

X

(72)

k=4

HAl A0S 949-2 S 7Xt Jt= 201

70
WH e

~ ol
RO X

(74) thelel

3

=3

J/Z

2/
=

At

o
60

E|
S
20l

o
[

=
T

36)2 Of

|,

=

23 (
HEECE 5

gHADIAE(14) 0
=l
2:

GHAH

0
el
ol
10f
I+

o)

IH
I+

Kk
ol

g

(m]

H

ciH,
32 - #H =3,

16 - Ot2

28 - @ =3,

30 - Ot2

BN

I

KJ

3zl

F

ol

-

<0

&g

i

ciH,

2g9 44

38 - Of

5
0

)l
Ki

el
i

oJ

—_

~J
Ki

hund

]
8o
Rl

10

5-1



101997000964 1

APAPNE:

[=3

=

giA0IE(14)

ADEA
—~—1Dl=0
umw%
i) 22 0 0

tLES
|20 0t28eibi(16

s
Skt (28) 0

A E
St
=

=)y
27:_

I:JEHZ\
0)0l
(20) 2t

FHEZ 2

S

= um

| = o I8l
INEI
\__._HOIE_lw._.m
e
0l @ =
I S
Kk o0 wm
__sE—

—~—~ <t

oyl

——

(\(\_.:_lﬂ.ul._._n

o =2

o0 T
b= MW
S<1H
RI& WS
ST

o
~ o 2 i
20 A H &z

(36)0f

Set3t

X
&

o

of
LIEFHCE,

LIEHH AFAI=OICH.

ot

[¢]

PN
=0 At

[a—

ot
o

[¢]

=

==
T Al
o
(34) LHOll A

[9)

+

ANZLOZW EHADE(14)

T A0 2R HY &2 FX0IC.
tatel D2 & eit (38)0t

=2
=

=2
=

Dl ol
e
37

[9)

A
2
HHEZ M,

AN A

P2 (34) LH=ol &

)

g2 AtES AN
AEZ T

C]

t

[
(=}

=

.
==l

A

el

)t

I A

ot
(38

—

[

2

ISP

O,
ElofH (38) 2t HEES

2 = 2380 OE
EBHZ e Eet3(32)
10l HE A0t

(=)

&l 21t (38)
Ot28 el

cHe
=13
=2
(=)
u

=

[=}

820/ 0/ 2X
402 0Ot

—
[a—

OIAE 2

Ol - o
20 ﬂ_._ <
60 0 1]
™ 0 )

A
& U

1 BO_E
unm L
~7 oD KJ
Dy
O|~ o
2 5o
SA
M X0
o M
IlzFH
BT
3
8 NH ol
X 0|0

-

£ ZEH=2
b S Eet3(32)2

F(34)

5-2

/29 g5l

o

X

(57)



101997000964 1

5-3



101997000964 1

5-4



(o ZeXe

36
14

40

38

5-5

32

101997000964 1



